
Footrest Support Assemblies
Swingaway 60 Degree, 70 Degree, and 90 Degree



Footrest Support Assemblies
Swingaway 60 Degree, 70 Degree, and 90 Degree

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1022831 Screw, Socket Button Head (1/4-20 x 1-7/8") 1 11
1029501 Plug Button, Black (1") 1 12
1017148 Pivot, Footrest 1 13
1025736 Locknut (1/4-20) 1 14
1025451 Screw, Slotted Hex Washer Head (#10-32 x 5/8") 1 25
1017423 Screw, Slotted Hex Washer Head w/ Patch (#10-32

x 1/2")
1 16

1025454 Housing, Latch - Right 1 17
1025455 Housing, Latch - Left 1 17
1026124 Collar, Anti-Rattle 1 18

See Chart #9  Footrest Support Assemblies 1 19 A
1118544 Kit, Extension w/ Hardware (2") 1 110

8881038231 Kit, 3" Extension w/ Hardware (Pair) 2 110
1045267 Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 111
1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 212
1028004 Kit, Pivot Slide Tube Mounting Hardware (Pair) 2 113
1026987 Guard, Impact (8" L) 1 1B

A - Specify frame finish when ordering.  
B - Not Shown. For 70 deg. Tapered Footrest.  

NOTE:

 
#9 Footrest Support Assemblies

Footrest
Support

Style
90°

Swingaway
60° 

Swingaway 60° MFX 70°
Non Tapered 70° MFX 70°

Tapered
888106259688810269968881047481888102699488810269988881026992Right
888106259788810269978881047480888102699588810269998881026993Left


